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|

0.093kg/L 28.054kg
0.194 0.64 3.0] 0.063
0.257 0.92) 4.0 0.064
0.024 0.09 0.5| 0.044
0.014 0.05 2.0 0.004
1.45( 5.17 35.0) 0.041
0.462 1.65 7.0 0.066
1.88( 6.70 30.0 0.063
3.86( 13.7§ 40.0 0.097
8.134 29.02 1219 0.067
2.264 8.07] 10.0 0.224
0.23( 0.82 2.0 0.115
2.494 8.89 12.0 0.204
10.632 37.91) 133.9 0.084
0.15( 0.53 2.0 0.074
0.084 0.3¢ 2.0 0.043
0.014 0.04 1.0 0.01d
0.00 0.0 0.3] 0.007
0.009 0.03 1.0 0.009
0.05( 0.19 4.0 0.013
0.321] 1.14 20.0 0.01§
1.500 5.35 55.0) 0.027
0.53( 1.89 30.0) 0.014
0.044 0.14 1.0 0.045
0.28¢ 1.03 7.0 0.041
0.034 0.12) 0.1 0.35(
3.024 10.79 123.4 0.025
0.119 0.49 0.4 0.283
3.134 11.14 123.9 0.025
0.48( 1.71] 5.0 0.096
0.074 0.27 0.5| 0.15(
0.554 1.98 5.5 0.101
0.784 2.79 2.0 0.392
2.540 9.05 4.0 0.635
9.904 35.29 30.0) 0.33
0.464 1.66 1.0 0.465
13.224 47.179 36.0 0.367
13.224 47.12 36.0) 0.367
0.047 0.17] 0.3] 0.157
0.047 0.17 0.3 0.157
0.004 0.02) 0.1 0.05(
0.004 0.02 0.1 0.05(
0.05( 0.18 1.0 0.05(
0.10 0.37 1.4 0.073
0.074 0.24 1.0 0.074
0.324 1.16 1.0 0.324
0.403 1.44 2.0 0.202
0.403 1.44 2.0 0.202
28.054 100.04 302.9 0.093
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4D

9 30 77 1

77 21. 48

No K g No K g

1 0.86 31 1.79
2 1.43 32 5.02
3 1.99 33 3.35
4 3.21 34 0.63
5 3.71 35 1.92
6 2.37 36 0.50
7 1.23 37 1.52
8 1.68 38 2.43
9 1.16 39 0.96
10 1.76 40 1.90
11 2.95 41 1.04
12 1.00 42 1.95
13 2.18 43 0.64
14 1.11 44 1.59
15 1.62 45 0.51
16 4.62 46 3.80
17 1.63 47 1.88
18 1.03 48 1.46
19 1.43 49 1.17
20 0.79 50 2.44
21 3.85 51 0.47
22 2.67 52 1.65
23 3.01 53 3.64
24 1.23 54 1.78
25 0.94 55 1.31
26 1.95 56 4.81
27 3.95 57 2.81
28 1.13 58 2.17
29 1.00 59 2.55
30 1.51 60 0.90
117.59
1.96
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